
Chapter 5 Open Book Practice Test

Name: __________________________  Date: _____________

	1.
	With her eyes closed, Sierra can accurately touch her mouth, nose, and chin with her index finger. Sierra's accuracy illustrates the importance of:

	A)
	accommodation.

	B)
	kinesthesis.

	C)
	sensory interaction.

	D)
	sensory adaptation.

	E)
	feature detectors.


	2.
	Which of the following would play a role in quickly alerting you to a gas leak in your home?

	A)
	vestibular sacs

	B)
	bipolar cells

	C)
	olfactory receptors

	D)
	feature detectors

	E)
	basilar membrane


	3.
	Which of the following play the biggest role in our feeling dizzy and unbalanced after a thrilling roller coaster ride?

	A)
	olfactory receptors

	B)
	feature detectors

	C)
	basilar membranes

	D)
	semicircular canals

	E)
	tempanic membrane


	4.
	On a cloudy day, a yellow flower is likely to appear ________ it does on a bright sunny day.

	A)
	less colorful than

	B)
	less yellow than

	C)
	equally as yellow as

	D)
	more yellow than

	E)
	whiter than


	5.
	Although Manuel was sitting right next to his parents, he smelled a skunk minutes before they did. Apparently, Manuel has a lower ________ for skunk odor than his parents have.

	A)
	accommodation level

	B)
	absolute threshold

	C)
	tolerance level

	D)
	olfactory saturation level

	E)
	adaptation level


	6.
	Those who believe in the value of subliminal audiotapes would be wrong to claim that:

	A)
	people are capable of parallel processing.

	B)
	signal detection is influenced by a person's motivational state.

	C)
	unconsciously processed information is unusually persuasive.

	D)
	sensory transduction can occur without conscious awareness.

	E)
	any of the above are true.


	7.
	Weber's law is relevant to an understanding of:

	A)
	absolute thresholds.

	B)
	difference thresholds.

	C)
	sensory adaptation.

	D)
	sensory interaction.

	E)
	parallel processing.


	8.
	Opponent-process cells have been located in the:

	A)
	thalamus.

	B)
	cochlea.

	C)
	spinal cord.

	D)
	visual cortex.

	E)
	semicircular canals.


	9.
	The phenomenon of color constancy best demonstrates that:

	A)
	an object's perceived color is influenced by its surrounding objects.

	B)
	the retina has three types of color receptors.

	C)
	the brain processes information about color and shape simultaneously.

	D)
	quivering eye movements help to maintain the perception of color.

	E)
	color vision depends on pairs of opposing retinal processes.


	10.
	The fact that fear may increase your sensitivity to an almost imperceptible pain stimulus is of most relevance to:

	A)
	place theory.

	B)
	frequency theory.

	C)
	the Young-Helmholtz theory.

	D)
	opponent-process theory.

	E)
	signal detection theory.


	11.
	If we see a speaker mouthing day while actually hearing someone else saying may, we may perceive a third syllable bay that blends both inputs. This phenomenon is known as:

	A)
	prosopagnosia.

	B)
	sensory adaptation.

	C)
	blindsight.

	D)
	accommodation.

	E)
	the McGurk effect.


	12.
	Damage to the basilar membrane is most likely to result in:

	A)
	loss of movement.

	B)
	accommodation.

	C)
	conduction hearing loss.

	D)
	loss of the sense of balance.

	E)
	nerve deafness.


	13.
	A subliminal message is one that is presented:

	A)
	while an individual is under hypnosis.

	B)
	below one's absolute threshold for awareness.

	C)
	in a manner that is unconsciously persuasive.

	D)
	with very soft background music.

	E)
	repetitiously.


	14.
	Kinesthesis refers to the:

	A)
	quivering eye movements that enable the retina to detect continuous stimulation.

	B)
	process by which stimulus energies are changed into neural signals.

	C)
	diminished sensitivity to an unchanging stimulus.

	D)
	system for sensing the position and movement of muscles, tendons, and joints.

	E)
	process of organizing and interpreting sensory information.


	15.
	According to the opponent-process theory, cells that are stimulated by exposure to ________ light are inhibited by exposure to ________ light.

	A)
	red; blue

	B)
	blue; green

	C)
	yellow; green

	D)
	red; blue

	E)
	yellow; blue


	16.
	When looking at the hands of a clock showing 8 o'clock, certain brain cells in the visual cortex are more responsive than when the hands show 10 o'clock. This is most indicative of:

	A)
	sensory interaction.

	B)
	feature detection.

	C)
	parallel processing.

	D)
	perceptual adaptation.

	E)
	accommodation.


	17.
	Cocking your head would be most useful for detecting the ______ of a sound.

	A)
	intensity

	B)
	pitch

	C)
	loudness

	D)
	location

	E)
	amplitude


	18.
	The human ability to speedily recognize familiar objects best illustrates the value of:

	A)
	accommodation.

	B)
	kinesthesis.

	C)
	subliminal stimulation.

	D)
	sensory interaction.

	E)
	parallel processing.


	19.
	As people grow older, they are most likely to need glasses because:

	A)
	the iris loses its ability to contract the pupil.

	B)
	the blind spot increases in diameter.

	C)
	the lens loses its ability to change shape readily.

	D)
	the feature detectors progressively decrease in number.

	E)
	the cornea loses much of its transparency.


	20.
	The ability to simultaneously process the pitch, loudness, melody, and meaning of a song best illustrates:

	A)
	subliminal perception.

	B)
	kinesthesis.

	C)
	accommodation.

	D)
	sensory adaptation.

	E)
	parallel processing.


	21.
	People who demonstrate blindsight have most likely suffered damage to their:

	A)
	cornea.

	B)
	lens.

	C)
	fovea.

	D)
	optic nerve.

	E)
	visual cortex.


	22.
	Evidence that some cones are especially sensitive to red light, others to green light, and still others to blue light is most directly supportive of the ________ theory.

	A)
	frequency

	B)
	Young-Helmholtz

	C)
	gate-control

	D)
	opponent-process

	E)
	signal detection


	23.
	After a small section of his basilar membrane was damaged, Jason experienced a noticeable loss of hearing for high-pitched sounds only. Jason's hearing loss is best explained by the ________ theory.

	A)
	gate-control

	B)
	frequency

	C)
	Young-Helmholtz

	D)
	opponent-process

	E)
	place


	24.
	During the months when there is a large amount of pollen in the air, your hay fever severely affects your sense of smell. At the same time your food all seems to taste the same. This illustrates the importance of:

	A)
	accommodation.

	B)
	sensory interaction.

	C)
	kinesthesis.

	D)
	serial processing.

	E)
	sensory adaptation.


	25.
	The semicircular canals are most directly relevant to:

	A)
	hearing.

	B)
	kinesthesis.

	C)
	the vestibular sense.

	D)
	parallel processing.

	E)
	accommodation.


	26.
	The ability to detect whether your body is in a horizontal or vertical position depends most directly on:

	A)
	accommodation.

	B)
	sensory adaptation.

	C)
	the vestibular sense.

	D)
	olfactory receptors.

	E)
	subliminal stimulation.


	27.
	The integration of information processed simultaneously by multiple neural networks can be detected as a pattern of:

	A)
	sequential opponent processes.

	B)
	concurrent transduction activity.

	C)
	trichromatic feature detection.

	D)
	parallel difference thresholds.

	E)
	synchronized brain waves.


	28.
	Humans experience the longest visible electromagnetic waves as:

	A)
	the color blue-violet and the shortest visible waves as red.

	B)
	the color red and the shortest visible waves as green.

	C)
	the color blue and the shortest visible waves as yellow.

	D)
	the color red and the shortest visible waves as blue-violet.

	E)
	the color black and the shortest visible waves as white.


	29.
	After listening to your high-volume car stereo for 15 minutes, you fail to realize how loudly the music is blasting. This best illustrates:

	A)
	Weber's law.

	B)
	accommodation.

	C)
	sensory adaptation.

	D)
	the volley principle.

	E)
	transduction.


	30.
	On the day she is to be interviewed for an important new position, Rachel awakens with a severe toothache. During the interview she feels no pain; not until 30 minutes later does she become aware again of the troublesome toothache. Rachel's experience is best explained by:

	A)
	the opponent-process theory.

	B)
	Weber's law.

	C)
	the gate-control theory.

	D)
	the Young-Helmholtz theory.

	E)
	frequency theory.


	31.
	The fact that people who are colorblind to red and green may still see yellow is most easily explained by:

	A)
	the Young-Helmholtz theory.

	B)
	the gate-control theory.

	C)
	place theory.

	D)
	frequency theory.

	E)
	the opponent-process theory.


	32.
	Receptor cells for kinesthesis are located in the:

	A)
	fovea.

	B)
	inner ear.

	C)
	muscles, tendons, and joints.

	D)
	olfactory epithelium.

	E)
	auditory cortex.


	33.
	Giulio's bag of marbles is twice as heavy as Jim's. If it takes 5 extra marbles to make Jim's bag feel heavier, it will take 10 extra marbles to make Giulio's bag feel heavier. This best illustrates:

	A)
	the opponent-process theory.

	B)
	accommodation.

	C)
	the McGurk effect.

	D)
	sensory adaptation.

	E)
	Weber's law.


	34.
	The local fire department sounds the 12 o'clock whistle. The process by which your ears convert the sound waves from the siren into neural impulses is an example of:

	A)
	sensory adaptation.

	B)
	accommodation.

	C)
	parallel processing.

	D)
	transduction.

	E)
	sensory interaction.


	35.
	Experiencing a green afterimage of a red object is most easily explained by:

	A)
	the opponent-process theory.

	B)
	the gate-control theory.

	C)
	place theory.

	D)
	the Young-Helmholtz theory.

	E)
	frequency theory.


	36.
	The green-colored ham and eggs had such a strange appearance that they tasted terrible to Sam. This illustrates the importance of:

	A)
	difference thresholds.

	B)
	sensory adaptation.

	C)
	equilibrium.

	D)
	sensory interaction.

	E)
	accommodation.


	37.
	If the just-noticeable difference for a 10-ounce weight is 1 ounce, the just noticeable difference for an 80-ounce weight would be ________ ounce(s).

	A)
	1

	B)
	2

	C)
	4

	D)
	8

	E)
	10


	38.
	The ability to simultaneously recognize the color, shape, size, and speed of an oncoming automobile best illustrates:

	A)
	sensory interaction.

	B)
	kinesthesis.

	C)
	parallel processing.

	D)
	subliminal perception.

	E)
	blindsight.


	39.
	Certain stroke victims report seeing nothing when shown a series of sticks, yet they are able to correctly report whether the sticks are vertical or horizontal. This best illustrates:

	A)
	prosopagnosia.

	B)
	serial processing.

	C)
	the McGurk effect.

	D)
	sensory interaction.

	E)
	blindsight.


	40.
	Complete sensation in the absence of complete perception is best illustrated by:

	A)
	Weber's law.

	B)
	prosopagnosia.

	C)
	conduction deafness.

	D)
	color constancy.

	E)
	sensory interaction.


Answer Key
	1.
	B

	2.
	C

	3.
	D

	4.
	C

	5.
	B

	6.
	C

	7.
	B

	8.
	A

	9.
	A

	10.
	E

	11.
	E

	12.
	E

	13.
	B

	14.
	D

	15.
	E

	16.
	B

	17.
	D

	18.
	E

	19.
	C

	20.
	E

	21.
	E

	22.
	B

	23.
	E

	24.
	B

	25.
	C

	26.
	C

	27.
	E

	28.
	D

	29.
	C

	30.
	C

	31.
	E

	32.
	C

	33.
	E

	34.
	D

	35.
	A

	36.
	D

	37.
	D

	38.
	C

	39.
	E

	40.
	B
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